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(fEZEBFT)
1F | 2 | 3F | 45F | 6F | 65 |2%F
=R 1,301 1,615 1,644| 1,441 1,491 1,670] 9,162
& mFEIIGEH 4,560 4,602 9,162
XERFAEE 1 1 2
SEPENEHERBEESRE 1 1 1 1 1 1 6
cEEGNEREREESRE 1 1 1 1 1 1 6
HAP T A2ERZESSRE 1 1 1 1 1 1 6
SE 1 1 1 1 1 1 6
FHRARYEMRVREERE 1 1 1 1 1 1 6
HRIEmE 20 20 19 20 20 20 119
E=EE 100 100 100 100 100 100] 600

(& ERFT)
1F | 2 | 3F | 45F | 6F | 65 |2%F
=R 3,638| 3,166| 2,799| 2,671| 2,374| 2,513] 17,161
& mFEIIGEH 9,603 7,558 17,161
XERFAEE 1 1 2
SEPENEHERBEESRE 1 1 1 1 1 1 6
LEEGNEREREESRE 1 1 1 1 1 1 6
HAP T ALERZESSRE 1 1 1 1 1 1 6
SE 1 1 1 1 1 1 6
FHRARYEMRVREERE 1 1 1 1 1 1 6
MRIEmE 20 20 20 20 20 20 120
(EE 100 100 100 100 100 100] 600

(RIZEEBFT)
1F | 2 | 3F | 45F | 65F | 65 |2%F
=R 11 20 22 24 30 35 142
& mFEIICEH 53 89 142
XERFAEE 1 1 2
SEPEFEHERBEESRE 1 1 1 1 1 1 6
CEPENEAEZEREESRE 1 1 1 1 1 1 6
cEEGNEREREESRE 1 1 1 1 1 1 6
HAP T ALERZESSRE 1 1 1 1 1 1 6
hREELCZERE 1 1 1 1 1 1 6
SE 1 1 1 1 1 1 6
FHRARSEMRVREERE 1 1 1 1 1 1 6
FERZEE 8 8 7 13 15 51
R EEE 1 2 2 7 3 3 18




